

17/5

سایناست

$$\sec \alpha = \frac{1}{\cos \alpha} \Rightarrow \cos \alpha = \frac{1}{\sec \alpha} \Rightarrow \cos \alpha = \frac{1}{1} \Rightarrow \alpha = k\pi \pm \pi \quad (1)$$

$$\cos \alpha \neq 0 \Rightarrow \alpha \neq k\pi + \frac{\pi}{2}$$



$$\cos^2 \alpha = 1 - \sin^2 \alpha$$

$$\sin^2 \alpha = 1 - \cos^2 \alpha$$

$$\cos \alpha = -1$$

$$\alpha = k\pi + \pi$$

دایره یونیت
جواب: $\alpha = k\pi + \pi$

$$(1) \quad (\cos \alpha + 1)(\sec \alpha - 1) = 0$$

$$\sec \alpha - 1 = 0 \Rightarrow \sec \alpha = 1 \Rightarrow \cos \alpha = 1 \Rightarrow \alpha = k\pi$$

$$\begin{array}{r} \sec \alpha - 1 = 0 \\ \sec \alpha - 1 = 0 \\ \sec \alpha - 1 = 0 \\ \sec \alpha - 1 = 0 \\ \sec \alpha - 1 = 0 \end{array}$$

$$\sin \alpha (1 - \sin \alpha) = \sin \alpha - \sin^2 \alpha$$

$$\sin^2 \alpha - \sin \alpha + 1 = 0$$

$$\Rightarrow (\sin \alpha + 1)(\sin \alpha - 1) = 0$$

$$\sin \alpha = -1 \Rightarrow \alpha = k\pi - \frac{\pi}{2}$$

$$\sin \alpha = 1 \Rightarrow \alpha = \frac{\pi}{2}$$

$$\begin{array}{r} \sin \alpha - 1 = 0 \\ \sin \alpha - 1 = 0 \\ \sin \alpha - 1 = 0 \\ \sin \alpha - 1 = 0 \\ \sin \alpha - 1 = 0 \end{array}$$

$$\frac{k\pi}{2} + \frac{\pi}{2} + \frac{\pi}{2} = \frac{\pi}{2}$$

$$\sin \left(\frac{\pi}{2} + \alpha \right) = \cos \left(\frac{\pi}{2} + \alpha \right)$$

$$\Rightarrow \frac{\pi}{2} + \alpha = k\pi + \frac{\pi}{2} \Rightarrow \alpha = k\pi$$

$$\frac{\pi}{2} + \alpha = k\pi + \pi - \alpha \Rightarrow \alpha = k\pi + \frac{\pi}{4}$$

$$\Rightarrow \alpha = \frac{\pi}{4} \text{ or } \frac{5\pi}{4}$$

$$\sin \left(\frac{\pi}{2} + \alpha \right) \neq 0$$

$$\Rightarrow \cos \alpha \neq 0$$

$$\Rightarrow \alpha \neq k\pi + \frac{\pi}{2}$$

$$\sin \alpha \neq 0$$

$$\alpha \neq k\pi$$

$$\Rightarrow \alpha \neq k\pi$$

$$\tan \frac{\pi}{4} = 1$$

$$\frac{\sqrt{r}}{r} \cos \alpha - \frac{\sqrt{r}}{r} \sin \alpha = \frac{\sqrt{r}}{r} \Rightarrow \cos \alpha - \sin \alpha = \frac{\sqrt{r}}{r} \times \frac{r}{r} = \frac{\sqrt{r}}{r} = \frac{\sqrt{4}}{4} = \frac{1}{\sqrt{r}} \quad (1.5)$$

$$\frac{\sqrt{4}}{r} m - \sqrt{4} \sin \alpha = \sqrt{4} \Rightarrow \sqrt{4} \sin \alpha = -\frac{\sqrt{4}}{r} m$$

$$\Rightarrow \sin \alpha = -\frac{1}{r} m \Rightarrow \frac{1}{r} = -\frac{1}{q} m = \boxed{m = -\frac{r}{q}} \quad (1.8)$$

$$\sin \alpha = r \sin \alpha \cos \alpha$$

$$(\cos \alpha - \sin \alpha)^2 = 1 - \frac{r \sin \alpha \cos \alpha}{\sin \alpha} = \frac{r}{r} \Rightarrow \sin \alpha = \frac{1}{r}$$

$$= \left(\frac{\sqrt{r}}{r} \sin \alpha + \frac{1}{r} \cos \alpha \right) \left(\frac{1}{r} \cos \alpha + \frac{\sqrt{r}}{r} \sin \alpha \right) = 1 \quad (2)$$

$$\frac{\sqrt{r}}{r} \sin \alpha + \frac{1}{r} \cos \alpha = 1 \Rightarrow \sin \left(\alpha + \frac{\pi}{2} \right) = 1 \Rightarrow \alpha + \frac{\pi}{2} = k\pi + \frac{\pi}{2} \Rightarrow \alpha = k\pi \rightarrow \text{جواب 1}$$

$$\frac{\sqrt{r}}{r} \sin \alpha + \frac{1}{r} \cos \alpha = -1 \Rightarrow \sin \left(\alpha + \frac{\pi}{2} \right) = -1 \Rightarrow \alpha + \frac{\pi}{2} = k\pi - \frac{\pi}{2} \Rightarrow \alpha = k\pi - \frac{\pi}{r} \rightarrow \text{جواب 2}$$

$$\frac{1}{r} \sin \alpha + \frac{\sqrt{r}}{r} \cos \alpha = \frac{\sqrt{r}}{r} \Rightarrow \sin \left(\alpha + \frac{\pi}{r} \right) = \sin \left(\frac{\pi}{r} \right) \quad (1.5) \quad (3)$$

$$\alpha + \frac{\pi}{r} = k\pi + \frac{\pi}{r} \Rightarrow \alpha = k\pi - \frac{\pi}{r}$$

$$\alpha + \frac{\pi}{r} = k\pi + \pi - \frac{\pi}{r} \Rightarrow \alpha = k\pi - \frac{2\pi}{r}$$

$$-\frac{\pi}{r} + \frac{2\pi}{r} - \frac{\pi}{r} + \frac{2\pi}{r} = \frac{2\pi}{r} = \boxed{\frac{2\pi}{r}} \quad (1.8) \quad (4)$$

$$-r \sin \alpha \cos \alpha = 1 \Rightarrow \sin \alpha = -\frac{1}{r} \quad (1.8) \quad (5)$$

$$r \alpha = k\pi - \frac{\pi}{r} \Rightarrow k\pi - \frac{\pi}{r}$$

$$\frac{11\pi}{r} + \frac{2\pi}{r} + \frac{2\pi}{r} + \frac{2\pi}{r} = \frac{17\pi}{r} = \boxed{\frac{17\pi}{r}}$$

$$r \alpha = k\pi + \pi - \frac{\pi}{r} \Rightarrow k\pi + \frac{2\pi}{r}$$

$$\cos^2 \alpha \times \cos^2 \alpha \times \cos^2 \alpha = \frac{1}{\lambda}$$

$$\cos \alpha = \pi \quad (9)$$

$$|\cos \alpha \cos \alpha \cos \alpha| = \frac{1}{\lambda} \xrightarrow{\text{دالة}} \frac{1}{\lambda} |\sin \alpha| = \frac{1}{\lambda} |\sin \alpha| \quad (10)$$

$$\sin \alpha = \sin \alpha \Rightarrow \lambda \alpha = k\pi + \alpha \Rightarrow \alpha = \frac{1}{\lambda} k\pi - \frac{\alpha}{\lambda} \quad \lambda \alpha = k\pi + \pi - \alpha \Rightarrow \alpha = \frac{1}{\lambda} k\pi + \frac{\pi}{\lambda}$$

$$\sin \alpha = \sin(\alpha) \Rightarrow \lambda \alpha = k\pi - \alpha \Rightarrow \alpha = \frac{1}{\lambda} k\pi - \frac{\alpha}{\lambda} \quad \lambda \alpha = k\pi + \pi + \alpha \Rightarrow \alpha = \frac{1}{\lambda} k\pi + \frac{\pi}{\lambda}$$

$$\frac{\sin \alpha}{\cos \alpha} \times \frac{\sin \alpha}{\cos \alpha} = 1 \Rightarrow \sin^2 \alpha - \cos^2 \alpha = 0$$

$$\Rightarrow -\cos^2 \alpha = 0 \Rightarrow \alpha = k\pi + \frac{\pi}{2}$$

$$\alpha = \frac{k\pi}{\lambda} + \frac{\pi}{\lambda} = \frac{11\pi}{\lambda}$$

$$\tan \alpha = \frac{1}{\tan \alpha} = \cot \alpha \rightarrow \tan \alpha = \tan(\frac{\pi}{2} - \alpha)$$

$$\alpha = k\pi + \frac{\pi}{2} - \alpha \rightarrow \alpha = k\pi + \frac{\pi}{4} \rightarrow n = \frac{k\pi}{2} + \frac{\pi}{4}$$

k	F	A	Y	V
n	$\frac{9\pi}{\lambda}$	$\frac{11\pi}{\lambda}$	$\frac{13\pi}{\lambda}$	$\frac{15\pi}{\lambda}$

$$S = \left(\frac{9+11+13+15}{\lambda} \right) \pi = \frac{52\pi}{\lambda} = 4\pi$$

$$\cos(n + \frac{\pi}{2}) = \frac{\sqrt{4}}{\sqrt{4}} (\cos n - \sin n) = \frac{\sqrt{4}}{\sqrt{4}} \rightarrow \cos n - \sin n = \frac{\sqrt{4}}{\sqrt{4}}$$

$$\cos n - \sin n = \frac{\sqrt{4}}{\sqrt{4}} \xrightarrow{\text{بـ}} \frac{\sqrt{4}}{\sqrt{4}} \rightarrow \cos n - \sin n = \frac{\sqrt{4}}{\sqrt{4}}$$

$$(\cos n - \sin n)^2 = 1 - \sin^2 n = \frac{4}{4} \rightarrow \sin^2 n = \frac{1}{4}$$

$$m(\cos n - \sin n) = \sqrt{4} (\sin n) = \sqrt{4} \rightarrow \frac{\sqrt{4}}{\sqrt{4}} m - \sqrt{4} (\frac{1}{2}) = \sqrt{4}$$

$$\frac{\sqrt{4}}{\sqrt{4}} m - \sqrt{4} = \sqrt{4} \rightarrow \frac{m\sqrt{4}}{\sqrt{4}} = 2\sqrt{4} \rightarrow m = 4$$

⑦ عبارت را بر $\frac{1}{r}$ ضرب می‌کنیم.

$$\frac{1}{r} \sin u + \frac{\sqrt{r}}{r} \cos u = \frac{\sqrt{r}}{r}$$

$$\cos 45^\circ \sin u + \sin 45^\circ \cos u = \frac{\sqrt{r}}{r} \rightarrow \sin\left(u + \frac{\pi}{4}\right) = \frac{\sqrt{r}}{r}$$

$$\left| u + \frac{\pi}{4} = 2k\pi + \frac{\pi}{4} \rightarrow u = 2k\pi - \frac{\pi}{4} \xrightarrow{-\pi \leq u \leq \pi} k=0, 1 \rightarrow u = -\frac{\pi}{4}, \frac{7\pi}{4}$$

$$\left| u + \frac{\pi}{4} = 2k\pi + \frac{3\pi}{4} \rightarrow u = 2k\pi + \frac{\pi}{2} \xrightarrow{-\pi \leq u \leq \pi} k=0 \rightarrow u = \frac{\pi}{2}$$

$$S = \frac{7\pi}{4} - \frac{\pi}{4} + \frac{\pi}{2} = \frac{5\pi}{2} = \boxed{\frac{5\pi}{2}}$$

$$\sin\left(\frac{5\pi}{4} - u\right) = -\cos u$$

⑧

$$4 \sin u (-\cos u) \geq 1 \rightarrow -4(\sin u \cos u) \geq 1 \rightarrow \sin 2u \leq -\frac{1}{4}$$

$$2u = 2k\pi - \frac{\pi}{4} \leq 2k\pi + \frac{3\pi}{4} \rightarrow u = k\pi - \frac{\pi}{8} \leq k\pi + \frac{3\pi}{8}$$

$$\xrightarrow{0 \leq u \leq 2\pi} \begin{cases} 1 \\ 2 \end{cases} \begin{cases} k=0, 1 \rightarrow u = \frac{7\pi}{8}, \frac{15\pi}{8} \\ k=1, 2 \rightarrow u = \frac{11\pi}{8}, \frac{19\pi}{8} \end{cases}$$

$$S = \frac{7\pi}{8} + \frac{15\pi}{8} + \frac{11\pi}{8} + \frac{19\pi}{8} = \frac{4 \cdot \pi}{1} = \boxed{4\pi}$$

(9)

$$1 + C \cdot S \gamma \star = \gamma C \cdot s \gamma \star$$

$$\begin{cases} 1 + C \cdot S \gamma \alpha = \gamma C \cdot s \gamma \alpha \\ 1 + C \cdot s \gamma \alpha = \gamma C \cdot s \gamma \alpha \\ 1 + C \cdot s \gamma \alpha = \gamma C \cdot s \gamma \alpha \end{cases} \rightarrow \wedge C \cdot s \gamma \alpha C \cdot s \gamma \alpha C \cdot s \gamma \alpha = \frac{1}{\wedge}$$

$$C \cdot s \gamma \alpha C \cdot s \gamma \alpha C \cdot s \gamma \alpha = \frac{1}{4\gamma} \xrightarrow{\sqrt{}} C \cdot s \gamma \alpha C \cdot s \gamma \alpha C \cdot s \gamma \alpha = \frac{\pm 1}{\wedge} \xrightarrow[\sin \alpha \neq 0]{\times \sin \alpha \star}$$

$$\underbrace{(\sin \alpha C \cdot s \gamma \alpha)}_{\sin \gamma \alpha} C \cdot s \gamma \alpha C \cdot s \gamma \alpha = \pm \frac{\sin \alpha}{\wedge} \rightarrow \frac{1}{\gamma} \underbrace{(\sin \gamma \alpha C \cdot s \gamma \alpha)}_{\frac{1}{\gamma} \sin \gamma \alpha} C \cdot s \gamma \alpha = \pm \frac{\sin \alpha}{\wedge}$$

$$\frac{1}{\gamma} \times \frac{1}{\gamma} (\sin \gamma \alpha C \cdot s \gamma \alpha) = \pm \frac{\sin \alpha}{\wedge} \rightarrow \frac{1}{\gamma} \sin \gamma \alpha = \pm \frac{\sin \alpha}{\wedge}$$

$$\sin \gamma \alpha = \pm \sin \alpha \rightarrow \begin{cases} \gamma \alpha = \gamma k \pi + \alpha \leq \gamma k \pi + \pi - \alpha \\ \gamma \alpha = \gamma k \pi - \alpha \leq \gamma k \pi + \pi + \alpha \end{cases}$$

$$\alpha = \frac{\gamma k \pi}{\gamma} \xrightarrow{MA n A} k = 3 \rightarrow n = \frac{4\pi}{\gamma}$$

$$\alpha = \frac{\gamma k \pi}{q} \xrightarrow{MA n A} k = 4 \rightarrow n = \frac{1\pi}{q}$$

$$\alpha = \frac{(\gamma k + 1) \pi}{\gamma} \xrightarrow{MA n A} k = 2 \rightarrow n = \frac{3\pi}{\gamma}$$

$$\alpha = \frac{(\gamma k + 1) \pi}{q} \xrightarrow{MA n A} k = 3 \rightarrow n = \frac{5\pi}{q}$$

$$\rightarrow \boxed{MA n A = \frac{1\pi}{q}}$$

★ A نمی تواند برابر خود π باشد چون طبق $\star \sin \alpha$ / مخالف صفر در قعر گرفته ایم!